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Sample paper
Class- 8
faYa — English

PART - |
Multiple Choice Questions (1-7)

Choose the correct option from the given options -

Q.1. Will you take picture of us? (1)
(@ a (b) an (c) the (d) none ( )

Q.2 The Earth is round, and it has more sea area land. 1)

(a) within (b) than (c) but (d) through ( )

Q.3.The train will leave in another half an hour, | reach the

station in time to catch the train.

(@) either (b) oughtto (c) will (d)need ( )
Q.4. Which of these is not related to a computer?
(a) mouse (b) keyboard (c) monitor  (d) badminton ( )
Q.5.Which of the underlined letters has a different sound?
(a) put (b) cut (c) but (d) shut ( )
Q.6.The meaning of the word "present" is
(a) big (b) gift (c) happy ~ (d) kind ( )

Q.7. 1 removed the roll-top and pulled out the drawers.

(@) Completed  (b) complete (@) completing (d) completely ( )

)

@)

1)

1)

1)



PART-II

Q.8.To Q.11. Complete the blanks in the passage given below using the correct words from the
bracket. (2x4)

(platform, noise, hand, journey)

It was meena's first train(8) . She was excited to see the huge train on

the(9) . The train made a lot 0f(10) as it come to a stop at the station. Meena
held her father's (11) .They walked on to the Train together.

Q.12.Write the plural forms of the following words. (1+1=2)
(@) knife -

(b) child -

Q.13. Write the missing letters in the following words. (1+1=2)

(@mo_nta n
(b)aft_rno_n

Q.14. Don't use mobile phone driving vehicle. (while / so that) (2

Q.15. Arrange the words in proper order to make meaningful sentences. (1+1=2)
(@) They / masks/ daily / wear

ADnS.

(b) jumped / the/ Himanshu /river / into

Ans,

Q.16. Fill in the blanks with the help of the words given in the bracket. (1+1=2)

[open, wear, cross, slow]

(i)Always a seat belt while driving.
(i) Do not the speed limit in crowded area while driving.
Part 111

(A)  Read the passage carefully and answer the questions given below -

| spotted it in a junk shop in Bridport, a roll-top desk. The man said it was early nineteenth century
and oak. | had wanted one, but they were far too expensive. This one was in a bad condition, the
roll-top in several pieces, one leg clumsily mended scorch marks all down one side. It was going



far very little money. | thought I could restore it. It would be a risk, a challenge, but I had to have
it. | paid the man and brought it back to my workroom at the back of the garage. | began work on it

on Christmas Eve.

Q.17. (i) How old was the roll-top desk? Where did the author find it? 2
Ans.
(i)What was the condition of the desk? (2
Ans.
(iii)Where did the author find the junk shop? (@)
Ans.
Q.18 (i) Where did the author bring the roll- top desk after purchasing? 2
Ans.
(if) When did the author began to work on the desk? (@8]
Ans.
(iii) Write the Opposite words from the passage for the following words--- (1+1=2)

(@) near -
(b) late -

(B)  Read the following passage carefully and answer the questions given below-



The Great Stone Face was a work of nature, formed on the perpendicular side of a mountain by
some immense rocks, which had been thrown together so that, when viewed at a proper distance,
they resembled the features of a human face. If the spectator approached too near, he lost the
outline of the enormous face and could see only a heap of gigantic rocks, piled one upon another.
But seen from distance, the clouds clustering about it, the Great stone Face seemed positively to
the alive. It was the belief of many people that the valley owed much of its fertility to the benign
face that was continually beaming over it.

(a) What was the Great Stone Face? D
Ans.

(b) How does the Great Stone Face appear, if spectator gets close to it? 2

Ans.

(c) Identify and write one word of the following sentences- (1+1=2)

a. A very high hill -- M
b. A person watching an event — S

Q.20. (a) When does Great Stone Face appear to be alive? (2)
Ans.
(b) What was the popular belief about the stone face among the people? 2
Ans.
(c) Find out the word from the passage which means- “ gathering”. (1)

Ans,




(C)  Read the following passage carefully and answer the questions given below —

Kalpana Chawla was an astronaut who belonged to the Karnal district of Haryana state. She was
the youngest and dearest of her siblings. She was licensed to fly single and multi-engine land
airplanes. single-engine seaplanes and gliders. Before becoming an astronaut, she was already a
scientist at NASA. Kalpana's first space mission in the space shuttle, Columbia, was 15 days, 16

hours and 34 minutes long During this time she went around the earth 252 times.

Q.21 (a)Which state did Kalpana Chawla belong to? 2
Ans.
(b) What was the duration of Kalpna Chawla's first space mission ? 3
Ans.
Q.22 (a) For what Kalpna Chawla was licensed ? 3)
Ans.
(b) Identify and write one word for the following group of words- (1)
a person who travels in a spacecraft?
Ans.
(c)Find out the word from the passage which is opposite to “oldest”. Q)
Ans.
Q.23 Rearrange the following sentences in correct sequence- (1x5=5)

I.  His axe fell into the river.
ii.  He brought a golden axe.
iii.  The God of Water appeared.



iv.  He wept and cried for help.
v.  Once a wood cutter was cutting woods near a river.

Ans,

PART IV

Q.24.1magine that you are Lakshyaraj living in Jaipur. Write a letter to your friend Hardik
congratulating him on his success in the examination. (10)
You may use the following clues—
(1) Asking him about his exam preparation.
(2) Congratulate on his success.

Ans,

My




Your Sincerely,

OR

You are Gayatri/Mohan studying in Govt. Upper Primary School, Kota. Your father has been
transferred to Ajmer. Write an application to your headmaster requesting him to issue your
Transfer Certificate.

(You may use the following clues-- father has been transferred, go to Ajmer,need TC to get
admission, kindly issue)

Ans,

2023

Subject,




Thanking You,

Your’s

Q.25.Write a short paragraph in about 100 words on “Celebration of Independence Day in my
school” (10)
(You may use the following words—

Independence Day, 15 August every year, National Festival, celebrate peace, harmony inspires us,
stay united, live with brotherhood, speech of principal)

AnS.




OR

Write a story in about 70-80 words with the help of the given outline—

[once a Hare and Tortoise .The Hare was proud .Made fun of
tortoise .Tortoise challenged race Hare
ran fast rest under a tree fell asleep

tortoise won.]

AnS.




(arag=ral, uregywI®,arft fAafor v geaid gaTT)

IR e goiar garr—u= udien 2023

AHAT YR 9A
DhEIT—8
HqAY — 2.30 TS quTics — 80
et g fder —
TS U (1-6)
Jei—1. H=T —13 BT IO Ufad & — 1
Multiplicative inverse of number -13 is
1
(&) o @) 1 @) — () 13 ()
UeT—2 AT 9 Pl T HAT BRI — 1
Cube number of number 9 is
(1) 27 (@) 81 (|) 343 () 729 ()
U3 TR TS S HR &I Fel G & — 1
HAYTXEIXTHT HIYAX100
(ST) 100 (E[) AT XSI
HAUAXEI HATTXFHAT X100
) o100 &= )
Correct formula to find the simple interest is
A. Principal x Rate x Time
100
B. 100 x Principal
Time x Rate
C. Principal x Rate
Time x 100
D. Principal xTime x 100
Rate
UeT—4 5 fhallu™ IFHI BT Hed ™Ud 240 %\' ar 1 fHAum™ SRR BT Hed =N — 1

Price of 5 kg sugar is rupees 240 then Price of 1 kg sugar is?
(1) 48 (@) 20 (&) 100 () 240 ()



-5 f=foRad & & drwr fgudg awie § ? 1

Which of the following polynomial is bionomial?

(@) 4x’ (@) 5-3xy (|) 2x+3y-5 () 5x+2x ()
UeT—6 TS B T =T BV & AT BT ANT BT & — 1

Sum of all interior angles of a quadrilateral is?

(ar) 90° (@) 180° () 360° (@) 540° ()

JrfrergTRIcA® 93 (7—11)

Very short answer type questions (7 — 11)
UeI—7 I8 A B WIT A BIfory fTad AT 200 HI 0T B+ Yol & UIef 81 S¢ 2

Find the smallest number by which the number 200 is multiplied to obtain a perfect cube?

Ued—8 Sl -4q Ud 7pq BT IUAHS BRI — 2
Product of the polynomial - 4q and 7Pq is

TeI—9 el THIEHSl & TP deSpIvT &I A9 45° 7, AT Yolldil &I F=dT 971 8RfT 2 2

How many sides does a regular polygon have if each of its exterior angle is 45°?

TeF—10 QI I8 3ATeRfd ABCD &1 URHA A HIfoY — 2
Find the perimeter of given figure ABCD

D C




ged—11 & TS 3Tl H UP Tl Wa (R) UG B D1 YIHAT ST DIy | 2
Find the probability of getting a red apple (R) in the given figure.

@ @ Green (G) — BT
@ Red (R) — ©ITel

T RTHD U3 (12—21)
Eus (12—15)
Short answer type questions (12 — 15)
PART - A (12 - 15)
ged—12 FfRaa HerAl BT Ughx T /I § F IuPadd W vV 3ifhd PITY —  4x1=4

Read the following statements and mark v on True / False appropriately

() WvT 1354, 2 W favrsw T8t R AT /3
Number 1354 is not divisible by 2. [True / False]
(i) WveT 152875, 9 9 fa9sy B | S VASK)
Number 152875 is divisible by 9. [True / False]

(i) I BIS AT 2 T 3 & fAIra 8, @ 98 awar 6 I A fofora =2l 21
T /3
If Any number is divisible by 2 and 3 then the number is divisible by 6. [True / False]
(iv) =T 6+X, 9 BT IO =, i X BT A1 2 7| T / 3
Number 6 + x is a multiple of 9, if value of x is 2. [True / False]

gei—13 QU ¢ U 3 & for 31 g Q¥ ¥ B | UR¥P o & WG HW H W AR
qed ¥’ Bl UBAH IR A 7 T RFd WIF W JW 9 3/ UeE g A |
Sugdd fdemed forfvey | 4
Two views are given next to each solid figure shown below. Identify the “view from above” and
“side view” corresponding to each solid figure and write the same in the blank space provided
below.



YI9—14 400 Il TR BT TU TS Id & SRE Iaad 99T BT Il 8! B arall Bl
go for | <@ AT 2 | g A BT ugdy A AU Y el & Iwi g —
242=4

=9

A road survey was conducted on 400 people who did not follow traffic rules that are shown in the

pie chart. Read the pie chart and answer of the following question



overspeed
10%

Overloading

(1) S\ 31fdr® R AT dTel ATEAl B Tl daTel fdaal &1 Uiaed S Hifory |

What percentage of people drive vehicle that are overloaded.

(2) THclc 21 oM dTel Sfdadl &I AT, i A ¥ ifee i § 9ed g ardl
Ffeqar | fpa arféres 287

Find the difference of people who are without helmet by who are over speeding.

UTi—15 U FHIIR aqysl ABCD (1 7T 8 | GRATRIT 3R ol & R W Reaa @i

@1 gft BT | 4x1=4
Given a parallelogram ABCD. Fill in the blanks on the basis of the defination and it's properties.
D C
A B
(i) AD= (BC/AB)
(i) 4DCB= (LBDA/£LBAD)
(iii)) OC= (OB/OA)

(iv) mZDAB+mZCDA = (180°/360°%)




THNIHD 93
Tgus—d (16—21)

YeT—16 U IBR &3 BT A% 2304 TMHCR 8 | §9 TR &5 DI ol S BTG | 4

Area of square region is 2304 m”.Find the side of square region.

UeI—17 BI® & FFH & TN B gY T B AN S B | 242=4

Find the value of the following using Laws of exponents.
() @+4°+5°)

W—mwﬁwmﬁ;amsi?ﬁquqﬁﬁumﬁ%aﬁmamB%WWW
yef¥a SIforT | 2+2=4

Find four rational numbers between 2/3 and 3/5 and represent them numbers on number line.

JeT—19 XM 7 10,000 HUI Bl 2 a4 $ U 10 URT & R W Thfg & B Td W
SYR ferar| afe 98 o9 W &u9f R foram SIar a1 e <Ot § fhdar SR BIAT| 4
Ram borrowed Rs 10,000 for 2 years at the rate of 10% compounded annually.If he could have

borrowed at Simple Interest rate then what will be difference in both interests.



TeI—20 & AR & AN 95 7| AT Ugell A U8 A= ¥ 15 3% &, af 9 qMi
TRI13N BT A T BIFTY | 4
Sum of two numbers is 95. If first number is 15 more than the second number then find both the

numbers.

ye—21 HIeT W <& 8311 U TP AT [F-H BT Yreld el g9 25 MAAe | 14 (B4 Feran
g1 T $P BT T8I A1l I8 Al 5 TS H JF BT T 4 AR B — 4
A truck loaded with goods Travels 14 km in 25 minutes following the traffic rules. If the speed of

the truck remains the same how much distance will it cover in 5 hours ?



fdeT e 9T (22—25)
Essay Type Questions (22-25)

Ue—22 9§l ABCDEF &1 faff=1 wmil # dfer Mar © o o afgfa # Serrar 1 &,

I8YSl DI &% 1d DI | 6
The Polygon ABCDEF is divided into different parts as shown in the figure then find the area of

Polygon.




freferRad &1 g1 dIfoTy— 3+3=6
Solve the following —
(A) U FHAGHS Bl &=hel 240cm” & AR Aol # 4§ v &1 owrg 30 A 81 g
fapot ST PITT | 598w fawol aifdes § dorm fede ifde 8 1 S ?

The Area of a Rombus is 240 cm’and the length of one of its diagonal is 30 cm.Find the length of

the other diagonal. which diagonal is greater and How much.
(B) THh TH dad dI $d1g S HINTY, fTA®T 3ae 1.54 m® IR T MR &1 &
140 cm & |
Find the height of the cylinder whose volume is 1.54 m” and diameter of the base is 140 cm.
NFEUTY ATIS. = (L) et e e e e e e e e e s

TG R 0T () OO
gei—23 faRad &ea! & omrs Sy (fh=i a1 &) 3+3=6
Factorise the following expression.(Any two).
(i) 4p>9q” (i) X*+8X+Xy+8y
(iii) X*+6X+8 (iv) a’-b*
FEUIN. ANIS. 7 (1) erreereeneeereesee et iesesesee bbbt bbbt e b b8 RE bbbt



UeF—24 TGS ABCD @1 Y& BIGTU W8I AB=5cm, BC=4.5cm, AD=6cm, D107 A= 90° AT DI0T
B=105" 6
Construct a quadrilateral ABCD where AB = 5 cm, BC = 4.5 cm, AD= 6 cm angle A = 90°and
Angle B =105°

3T
OR
Th FHIGHS! WXYZ B o1 BT e f[awo wy 7 Xz &1 orwrgdl Han
5.2¢cm TAT 6.4cm © |
Construct a Rhombus WXYZ whose length of the diagonals WY and XZ are 5.2 cm and 6.4 cm
respectively.

Ue—25 IUGF] YA T UGN Hal gY [F dlferel H &1 T8 AR™N & ol 3ol a9 18d
Tr = el T gl BT SRk Iy — 6

Draw the graph for the following tables of values, with suitable index.

SEIRCERCNCHECAC|
STHT & (U #) 1000 2000 3000 4000 5000
AR TS (B9 H) 80 160 240 320 400

Interest on deposit for a year,
Deposit (IN R) 1000 | 2000 3000 4000 5000
Simple Interest (IN R) | 80 160 240 320 400

(i) 7 3MeiE A fovg & orRar 8 ?
Does the graph passes through the origin.
(i) eI & IR R [™UY 2500 BT AMEE TS HTA DI |
On the basis of graph,Find the interest on Rs 2500 for year.
JiN Ans. —
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AHAT YR UA
(Model Question Paper)

hE&IT/ Class—8
fawa/subject: IS (science)

A BT SYANT BT 28—
(31) ®us foHoT H (@) R, TR I H
(F) <1d A% B BT 97 99 H () SURTaT I ( ) 1

Nylon is used in —
(a) To make clothes (b) To make ropes and tents
(C) To make toothbrushes (d) All of the above

ared @ oIy ST S99 HF UgHdH &—
(1) Sioter CEISSRCIEARERIE]
() Ugrat (?) =fad ugifersm = ( ) 1

Less polluting fuel for vehicles is —
(a) Diesel (b) Compressed Natural Gas (CNG)
(C) Petrol  (d) Liquid Petroleum Gas (LPG)

a8 B
(31) aTe BT g A (@) aTelT &1 " &4
() aTel T ITaR® &= (8) SH | @Is T8I ( ) 1

Which part of flame do goldsmiths use to melt Gold and Silver —
(a) Outer zone of flame  (b) Middle zone of the flame
(c) Inner most zone of flame (d) None of the above

=1 PUF B T (T) 1qdT 3N (F) farfed wifve

Write True (T) or False (F) for following statements.

fordfRre afeT graeol B R | ()1
Fertilised egg is called zygote.



5. fpoiRTaRer § o s # gfg & ¥ | ()

Height increases during adolescence.

6. IS 3T BR & I & AT YHH 37 AT Al MY TR & 3f_R AR | ()1
I you are out of house and an earth quake strikes, you will enter the house.

7. IS 3US B AT ARI—UTH AT & MY AT T W FRHAT A & g 3y
T B ? AR | 2
If fire breaks out around your home then what would you do to control fire? Write
JIY/Ans.—

8. 918d MYET & Udh Iarexvl foilRey | 2

Write an example of external fertilisation.
JI¥/Ans.—

9. UreY MM &1 A foIfRgu | 2

Write the name of male harmone.
SIY/Ans.—

10. 1 dTSell & &5 g9ThR S99 ST Bl oSV | 2

Draw a diagram of two clouds showing ions.
Scd¥/Ans



11. 4R YRR &1 AIA T T8 e & | 39T & 187 | 2

Jupiter is the largest planet of the solar system. Draw its diagram.

SIY/Ans

12. ATSSIo I &1 o 99180 | 4

Draw the diagram of Nitrogen cycle.
J<IY/Ans

13. 9f¢dl & oIy 3y o1oe 7 & 6 TR @& a6 @¥Ie @l Al <37 R
BROT ferfEy | 4
What type of clothes you will suggest to your friend to buy for winters? Write four
reasons.

S/ Ans.—




14. 79 ARl # UgIforad & Heed dU SUANT §AC Y © 18T AHE—1 6T g

|| | a8 e i | 4
51 e ||

&.9. | Ugiferay & docs SYAIT

1 sfad ugifermm 1 | A | Ueq U4 9sd AT |

2 SIoTe B | AXEH, HIEE, denq fAafor #

3 ORIt A C |=TRI Ud S 9 389 & U H

4 facH D | ¥Rl AR, 9189 g faga el & forg

SO b W A |

Various constituents of petroleum and their uses are shown in the table given below.

Match group I with group II

Group I Group I1
S.N. | Constituents of petroleum Uses
Liquid Petroleum Gas A Paints. Road surface
(LPG)
Diesel B Ointments, Candles, Vaseline etc.
Paraffin wax C Fuel for Heavy Motors
Bitumen D Vehicles, electric general

S/ Ans.—

15 ¥ fold T Irdl & FIal B Srad) a9 IT 1T R Fal (V) BT e

SHIF 1X4 =4
Check the correctness of the sentences given below and mark True (T) or False (F).

(31) e | auf &% yWIfad el B © | (T / 31
Rainfall rate is not affected by deforestation. (True /False )

(@) 9= uTofl SIRUY 98 & B [GTel UR O] GRIEd g SR v8d 2 | (A / 3c)



Wildlife sanctuary is an area where wild animals remain safe and protected.

(W) Hhea= Sid, 9 S & el T&r e FeiiRd Wk | HH 8l Sff I8!

gl SRVELRS))

Endangered animals are those animals whose numbers are diminishing below certain level.
(True /False)

(]) fR—R IUSITS; Y Fowrd # 9ael Ol & | S ASIeiaul HEd &
(T / )
Gradually the fertile land gets converted into deserts. It is called desertification.

16 UTGU BIRIBI g ST DIRTBT BT AMHIfBd = T8Y | 2+2=4

Draw labelled diagram of plant cell and animal cell.

17. <19 &I aR¥mET 9 7 falag | 2124

Write the definition and formula of pressure.
SI¥/Ans




18 IfE AMUd! fer wel UR T, ]IS 8iaT & af 3MYSd! fhd UdR & S

T WS Dl YANT HRAT =My ? fofy | 4
Which type of footware will you use if you need to walk/run on smooth surface? Write.

SIY/Ans

19 IR g T § q—al 3R forfau | 2+2=4

Write two differences between noise and music.

JIN/Ans.—

(1)




(ii)

20. TIE[a oIUT S2iC 831 ARl URU & qMifdbd & 91y | 4

Draw a labelled diagram of simple circuit showing electroplating.
JdX/Ans

21. B IUUT A BH B3 UHR B THGIRAT YT BN & [HIg QT SAFH1Ra!
ferfeag | 24+2=4

We get multiple types of informations from artificial satellite. Write any two of them.

S/ Ans.—

(1)




(ii)

22 319 370 BR H g BT YUSRU HRAT AT & [FAD foTg T FIT—a1
ARt B ? faRag |

You want to store wheat in your house. What preparations will you do for it? Write.

JIXY/Ans




34T/ Or

el Riars Sl &1 w1 81 g8l o R &1 sel Ay &1 Sy &ear?
SEIEREICECAREEEERIEN 145=6

Which method of irrigation will you use in water deficient area? Draw a diagram of method

of irrigation.
JcIY/Ans—




23 91d g LT N & ER W Pl IR J<R [T |

11/2+ 11/2 +11/2 + 11/2:6

State four differences between metals and non-metals on the basis of their properties.

/SN.

D 9.

€]/ Metals

SIEITJ/Non Metals

3AAdT/ Or




T IR & BiaaH—1 H ggret fau U € | S AEH D BictH—I1 § 59D SUINT
forfiay | 6

In the given table, in column I metal names are given. Write the uses of given metals in front of

them in column II

B ./ | BIoTH—I /Column] | BIeld—II /Column II

S.No. | ggrel/ Metals SYANT/Uses

1 MTeS/Gold

2 hIUR/Copper

3 3MI¥A/Iron

4 DY /Mercury

24. (31) AT A BY FGAT BT AHIfBT forH 99780 | 442=6

Draw a labelled diagram of human eye.

@) e gfer ¥ 37U Fsd grel daell IF ¥ &1 g9 g (forfay |

Which two questions will you ask to the traffic police regarding road safety?
JcI¥/Ans.—



(ii)

3AdT/Or

(31) SMIAT HIVT TAT URTA DIV IRIER BN & 139 T & FAergar 9 W<

DITY |

Explain with the help of a diagram that the angle of incidence is equal to angle of reflection.

(@) afs smua UGSl & g | ML T USl © [FASH gReT 8q 3
I BIF I QT YT guHT g [forRay |

If your father has to drive in fog, which two questions will you ask him for road safety?
Write.
SI¥/Ans.—

(1)




(ii)

25.(31) IYg ST AR IAYE STl DI Yga b Dl | foIlkay | 4+2=6
How would you recognize drinking water and impure water?
J<IX/Ans.—

(@) Yaoodr Aeell &1 97a fIRau ST srud! 99=< & |

Write two of your favorite hygiene habits.
J<IY/Ans.—
(1)




(ii)

31ordT/ Or
(37) Y& 3R Igg a1 A AT AR 2° forfay |

Differentiate between pure air and impure air.
SIX/Ans.—

(@) TR MU PT IIATARYT T8 I8 139D oY &H T HIAT BIT17
What will you do to keep your surroundings clean?

JIY/Ans.—
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3afg—2.30 €T quid 80
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U145 BISD Scdliv ey Feual foredn

R I 9= | 1+1+1+1=4
() qd feemar Safr (g, ===, e )

(@) Afgem: TSHI . Taf=a | ( STef, grEM, TcH)

(¥7) STEAT MYV JEIBATRIH————— I AR
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9. 16 SITRIATT YR ITRIOT YuidTaRivy foraq 1+1+1+1=4

() SRAT AW g IugsI= 7

ShU

(@) aoreret: |ATY B ged P

Sk

(7T) UTEHRER &1 [T 3 2
S

(&) > NS ava: FfERe: ?

JRA

Y17 JTIRIATT UM SRIOT YU foRad— 1+1+1+1=4

() W | fbq wafa ?

SRH

(@) 34 ¥ HRAA Jarr AR ?

SRA

() = e TEfy ?

SvH

(@) ufyy & fawem weRT: ?

JRH

U.18 JTAYATT SR TSIYIHhed g1 Talld! forad |
2+2=4

() oo
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AHAT YR 9A
Model Question paper

D&I—8
Class - 8
T — 2.30 €U (Subject) (Social Science) Trﬁ_cﬁ — 80
Duration — 2.30 Hrs Total Marks - 80

UG — 3
Section - A
TS UL (1-6)

Multiple Choice Question (1-6)

U1 |19 & Tyl § |9 98l Adeu & gud -
Choose the Correct option in the following questions

(i) SRTENIBRI 71 3RS AT §RT IR RPre &1 yarT fdar —

(a1) are fdare =g (@) sfie™ & a7 B

(W) fewol =g (8) Fida IR H-A Tq (
Historians used the records prepared by the British for

(a) Debate (b) Study of history.

(c) Comments (d) report preparation

(i) BIST AT I JEJeTdT bl —

(31) HERTOM SHTARTE—II @) Harg STafiE

() AERIUT AR (8) <ToTT goiA g (
Who chaired Hurda Conference-

(a) MaharanalagatSuigh Il Jai Singh (b) Sawai Ja

(e) MaharanaAbhay Singh (d) Raja Durjan Singh

(iii) TY 2011 H AR HRA DI ST & —
(31) 100 BRI (@) 121 BRS
(W) 141 RIS () 145 TRIS (
The population of India according to Census 2011 is
(a) 100 crore (b) 121 Crore (c) 141 Crore (d) 145 Crore



(iv) Ted &1 et § —
(&N BT 3T
(W) [AaRI &1 eH-—ue™
Tourism Means
(a) Import of goods
(c) To exchange views

(v) AT =T B 39 & —

(31) BT I
() STHPdT

@) |amE &1 faia
() w1 =g I

(b) Export of goods
(d) To travel

(&) BT ARL BRI

() SWRIgd |41

Which of the following is necessary for social justice.

(a) To make laws
(e) Public Consciousness

(b) Law enforcement
(d) All of the above.

(vi) "9 gEmel, ST Tl AT BT SEXT AT ©
R IUNNIESERY

(37) P=aT YT EAT DI ]

() Hrdoe eareral &1 i

(1) arferant fRream &1

PIRSIEE]

Which one of the following is an objetive of "Beti Bachas BetiPadhao
(b) women empowerment

(d) Promotion of girl child education

(a) To stop female foeticide
(c) Construction of public toilets.

Lug — §
Section - B

SAfCTTgRICHS T2

Very Short Answer Type Questions

o2 o B AT BT —
(i) MR FEddm
(if) A R
(iii) TeTaTer fRre
(iv) 91t fdarg
Match the following-
(i) Independence of India
(ii) Jhum cultivation
(iii) Oriental Education
(iv) Child marriage

(a) BT 3R STeTmaN
(b) BT JORTE
(c) 1947

(d) A¥Rd AT

(a) cut and burn

(b) legal offence

(c) 1947

(d) Sanskrit Language

1x4=4



Raa vl &7 g #ifsg —

Fill in the blanks.

T3 W & TIAR WRBR & 3T FRIIBT, oo L R gl 2
According to Constitution, the organs of the government are the and the Legislature,
and the
YII—4 UTH TATIT BT T oo BIAT B | UTH UARIT BT BRIDTH oo
I BT % | 2
Head of Gram Panchayat is .Tenure of a Gram Panchayat is years.
TIT—5 UTHAD FATIT oo H TG BT B | oo BIEARED
TATE BT SGIERT & | 2
Natural resources are obtained from . is an example of natural
resource.
TeI—6 JMfaardl oeg &7 31ef =T A H e sxd g1 2
The is meaning of the word tribal is They live in
JeI—7 STRIRET fAaROT BT L0 S PHREB JATIT B % | 2
and affects the distribution of population.
Yis—Y
Section-C

CE[cXTcHD YR

Short Answer Type Questions

= 9ol & SR SIfvTu—
Answer the following questions

11/2+11/2 =3

Y34—8

(i) AT &7 gg fb—TdT & Hey gan ?
Between whom was the battle of Plassey fought ?

FEUIR/ANIS = oottt ettt s bbb s s ss s E s ssRA R8s e RS E e RR ettt

1o ﬁwﬁqﬁ ...................... Hi‘aﬁw@q .................................... . aﬁ:{_aﬁqqﬂ%ﬁ? ..........................

Which were the prevalent economic activities in tribal groups before the 19th Century ?




12

qe9—9 1" +1"=3
(i) gregarel e & wHgd fag™l @ 9 daey ?
Name the scholars who supported oriental education.
RTINS 27X L3
(i) 17 9T 2CTea] & ARG Gl Gl DI DIg <l fAudd garsd ?
Mention any two features of Indian cotton clothes of 17" century.
RTINS 27X L3t U
Y910 1" +1"=3

(i) 1857 ®I Bifd & T HROT o ?
What were the reasons of 1857 revolution ?
IS TR Y 0 L3OO

" wﬁﬁ ............ q@ﬂw .................. ﬁ? .................................................................................................................

Why Permanent settlement system failed?

gea—11 IR WIRETT Holl Aol R A5dqel 28?2 Bl & IR URORFTT ol & SETex0T QIfTg?
2+1=3
Why non-conventional sources of energy are important ? Give any two examples of non-
conventional sources of energy.



TeI—12 BV A AT T A &7 B A UG Plg <l Saral & AW gy ? 2+1=3

What do you any mean by agriculture? Name any two agricultural products.
TCUIN/ANST(1)  orerreeeeeeeese e e es st es et s e84 8 82848288 E bt

YI9—13 IR &I JaRART BT g9Tfad BT dTed HRBI BT FoiF HIfTT ? 3

Describe the factors affecting location of Industries.

11/2+11/2 =3

qI—14
(i) IRPR gRT FAMId HIg &I HY AT & T foTRay ?

Name any two schemes related to agriculture run by Government.
LR Y T ) TP

(i) ISR & U g8< SN & IGERY STy ?
Give examples of major large scale industries of Rajasthan.

1/2 12
1 =

U1—15 +1
(i) ISR & g1 ! GReT B 9T Y&l fhd S oF 2

What measures were taken for the safety of forts in Rajasthan.



(i) ¥ ORI H ST 89cd gdT oI @ 31UET HH | RO Bl T HIfTY ?
The population density of Western Rajasthan is less than that of eastern Rajasthan. explains it's
reasons.

Y716
(i) ETHRRYSTT W S 9T FHS © 2

What do you mean by Secularism?

(i) ¥ac=l =RATferdT | T ae § P

What is meant by Independent Judiciary?

17 1741 =3

(i) WRPR 5 ISR | AHINTG I B UIded <dl 87 $Ig & SGE0T 4oy ?
How does Government promotes Social Justice? Give any two examples.

i gmaﬁ—a\—,rﬁmsﬁaﬁ—gaﬁ .............. ? .....................................................

Mention any two public facilities provided by the Government to the citizens.



172 1/2
1 =

U21—18 +1 3

(i) STATHIUT BFAT & FeH H AT IRPR R 59 JHR A TG a1 FAhell @ 7

In the Context of unpopular laws, how can the public put pressure on the Government?

. mmﬁwﬂaﬁ ................. aﬂ ................................... ? ............................................................................................

Analyse the role of Parliament in Democracy.

JI—19 oRAE & dqHfa ¥ 9 {7et &1 9Ry 3
(i) PIET (i) TR (iii) AP

Locate the following districts in the map of Rajasthan.

(i) Kota (ii) Dungarpur (iii) Sikar
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Ug—g
Section -D

Je9—20 3MM&Hal fAGIE &1 guiq U+ Iea] § PHITT ? 6
Describe ‘Auwa revolution’ in your words?
37e7dT OR
1857 BT Hifd BT ITHIA] B HRUN BT guiF BT ?

Describe the reasons of failure of 1857 revolution?

TeI—21 IR B g H Yiord &1 T o1 auid HIfg ? 6
Describe the role of Police in crime Investigation.
3dT OR
I YoTTell ® fAwer garE | oy R’ wEe ® 2

What do you mean by fair trial in Judicial System?



Tei—22 ST WRET0 & UM qargd ? 6
Explain the measures Soil Conservation.
34T OR
gl W R A 7? fRARYdes FHssd ?
What are the benefits of Forests? Describe in detail.




Ye—23 SIFRTE AT | AT 91 A & 7 [ORR b awesy ? 6
What do you mean by Mass Nationalism? Explain in detail.
3dT OR
ARG & Al FITH H HSIAT T BT JAdT B faaa=r Hifsg ?

Discuss the role of Mahatma Gandhi in Freedom Struggle of India.




